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QUESTION 1

Which Cisco Meraki best practice method preserves complete historical network event logs?
A. Configuring the preserved event number to maximize logging.

B. Configuring the preserved event period to unlimited.

C. Configuring a syslog server for the network.

D. Configuring Dashboard logging to preserve only certain event types.

Correct Answer: C

QUESTION 2
DRAG DROP
Drag and drop the descriptions from the left onto the corresponding MX operation mode on the right.

Select and Place:
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The MX appliance acts as a layer 2 bridge

This mode is the default mode of operation

DHCP services can be configured on the MX
appliance

VLANSs cannot be configured

This mode is generally also the default gateway
for devices on the LAN

This mode is not recommended at the network
perimeter

No address translation is provided

Client traffic to the internet has the source IP
rewritten to match the WAN IP of the appliance

Correct Answer:
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Client traffic to the internet has the source IP
rewritten to match the WAN IP of the appliance

VLANS cannot be configured

This mode is the default mode of operation

This m glly alshe deut gatay
for devices on the LAN

The MX appliance acts as a layer 2 bridge

DHCP services can be configured on the MX
appliance

This mode is not recommended at the network .
perimeter

No address translation is provided

QUESTION 3
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Web App Health  for Google - for the last week -

Network #2 E
LAN WAN SERVER ;

S:

Ewii

” VIEW TRENDS

Network #1
LAN WAN SERVER

¥ VIEW TRENDS

Refer to the exhibit. What are two outcomes reflected in the Web App Health application? (Choose two.)
A. Users on both networks may be experiencing issues when attempting to reach Google.

B. Network #1 could not load Google because of a remote server issue.

C. Network #2 had better application performance than Network #1.

D. Network #2 could not load Google because of a local client misconfiguration.

E. Neither network recorded any server-side performance issues.

Correct Answer: AE

QUESTION 4

Which Cisco Meraki product must be deployed in addition to Systems Manager so that Systems Manager Sentry
enrollment can be used?

A. MS Switch

B. Meraki Insight
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C. MR Access Point
D. MV Smart Camera
Correct Answer: C

Reference: https://meraki.cisco.com/blog/tag/systems-manager/page/4/

QUESTION 5

One thousand concurrent users stream video to their laptops. A 30/70 split between 2.4 GHz and 5 GHz is used. Based
on client count, how many APs (rounded to the nearest whole number) are needed?

A. 26
B. 28
C.30
D. 32

Correct Answer: C
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